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PART A: Grammar and Vocabulary
Directions: Questions 61-68 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), or (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

Regarding the usage of “on” as a preposition of time, which sentence is grammatically WRONG?
1) She plays tennis on Fridays.

2) I’ll see you on Tuesday afternoon then.

3) His daughter was born on the 24th of August.

4) The trees here are really beautiful on spring.

Sandy is in the living room watching television. At this time yesterday, she ......... television.
That’s all she .......... !

1) was also watching — is ever doing 2) was also watching — ever does

3) also watched — ever did 4) also watched — was ever doing

OK. Let’s try that. If the power doesn’t come back on within an hour, you all .......... from home.
1) must be working  2) had to work 3) can be working 4y should work

The old woman is ......... an amazing story and the children are listening to her carefully.

1) quitting 2) hearing 3) trying 4) narrating

He loves collecting ......... coins which are from old tradition.

1) ancient 2) modern 3) domestie 4) suitable

.......... your work for a minute and listen to what I have\to tell you.

1) Get to 2) Jump out of 3) Take'€are of 4) Put aside

Medical students are clearly .......... journals,“"\booKs etc that are written based on true
experiments.

1) after 2) against 3) including 4) towards

You could .......... speak every language in Europe, but it would take far too much time to
learn them all.

1) neatly 2) possibly 3) regularly 4) boringly

PART B: Cloze Test

Directions: Questions 69-72:are related to the following passage. Read the passage and decide
which choice (1), (2), (3) or4{4) best fits each space. Then mark your answer sheet.

In his late teens, South Korea’s Yong-eun Yang, or “Y. E.”, enjoyed lifting weights and
hoped to own his own gym someday. But that dream died when he hurt (69)..... in the gym.
So at age 19, he took a part-time job at a golf course. He picked up golf balls and began to
(70)..... other players. He started to practice the game by himself (71)..... at night, and he
even forced himself to get up early to be at the course by 5:00 a.m. for more practice. This is
how Y.E. taught himself to play golf. His dedication and (72)..... led to success. He became
a professional golfer in 1995, and, in 2009, this talented man won his first championship,
beating Tiger Woods.

1) he 2) himself 3) him 4) his
1) suggest 2) observe 3) protect 4) attract
1) latest 2) lately 3) late 4) later

1) emotion 2) history 3) agency 4) patience
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PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

At a time when women were asked not to work outside the house, a group of women at
Harvard’s observatory made a large impact (influence, effect) in the science of stars. From
1877 to 1919, there were more than 80 women who became famous as ‘Harvard Observatory
computers’ for being so good at calculating and making huge catalogs of stars. Women
earned about 50% of what men earned, for the same work. People didn’t know many of these
women until some writers started to write their stories. One of these scientists was Annie
Jump Pannon who worked in the observatory from 1896 to 1940. Because of a cold, she
became deaf when she was a child, like Thomas Edison. But, this never stopped her from
becoming a great scientist. Pannon discovered 300 special stars. SShesalso grouped 350,000
stars into seven groups: O, B, A, F, G, K, and M. Each group had different temperature, from
hot to cold. Her friend, Henrietta Swan Leavitt, also found that the stars in each group have
similar colors. Because Pannon was a woman and deaf, Hafyard University didn’t give her
awards for many years, but she received many awards ffém other places. For example, she
was the first woman who received a special doctorate ‘degree from Oxford University.
Harvard University finally decided to give her the William Cranch Bond Astronomer Award
in 1938. She died three years later, but other women continued her great work in science.

Which sentence is NOT true, according te.the passage?

1) Women were paid less than men.

2) A cold caused (made) Pannon to lose-Her hearing.

3) Harvard University never gave-any award to Pannon.
4) Pannon died one year after finiShing her work at Harvard’s observatory.
What did Annie Jump Pannon invent?

1) Computers at Harvard University

2) A system that groups,stats based on their temperature.
3) An award at Oxford)University

4) A system to findsthe color of a star

Which two words in the passage are synonyms?

1) Scientist and computer 2) discover and find

3) catalog and group 4) impact and end

Which is the best title for the passage?

1) Forgotten Women in Science 2) Hardworking Scientists

3) Star Temperature Catalogs 4) The life of Annie Jump Pannon
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Passage 2:

History books record that the first moving picture with sound was The Jazz Singer in 1927.
But sound films, or “talkies”, did not suddenly appear after years of silent screenings. From
the earliest public performance in 1896, films were accompanied by music and sound
effects. These were produced by a single pianist, a small band, or a full-scale orchestra;
larger movie theaters could buy sound-effects machines.

Research into sound that was reproduced at exactly the same time as the pictures — called
“synchronized sound” — began soon after the very first movies were shown. With
synchronized sound, characters on the movie screen could sing and speak. As early as 1896,
the newly invented gramophone, which played a large disc carrying music and dialogue, was
used as a sound system. The biggest disadvantage was that the sound and pictures could
become unsynchronized if, for example, the gramophone needle jumped or if the speed of
the projector changed. This system was only effective for a single song or dialogue
sequence.

A later development was the “sound-on-film” system. Here, sounds were recorded as a
series of marks on celluloid read by optical sensors. These signals would be placed on the
film alongside the images, guaranteeing synchronization. Short féature films were produced
in this way as early as 1922. This system eventually brought us “talking pictures”.

Why does the author mention “a single pianist, a small bandjer a full- scale orchestra”?
1) To show how badly paid musicians were

2) To explain how sound that accompanied early filmsvas made

3) To emphasize the role sound effects played in\The.dazz Singer

4) To refute history books that claim the first movie with sound was made in 1927
It can be inferred that .......... .

1) most movie theaters had a pianist

2) sound-effects machines were common

3) orchestras couldn’t synchronize sound with the pictures

4) gramophones were developed about the same time as moving pictures

It can be understood that the synchronization system .......... .

1) could be placed alongside,the images

2) developed at the same time as sound for movies

3) was an important development for talking pictures

4) was a guarantee that' short feature films could be produced

Short feature films were produced as early as 1922 .......... .

1) were recorded by optical sensors

2) put musicians out of work

3) were only effective for dialogue sequences

4) came before talking pictures



